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QUESTION 1

A Corporation is building a web application to allow its customers to schedule service requests online. There is also a
need to run operational reports at times during non-peak hours. The architecture team is debating whether such reports
should be run onthe OLTP database or in a separate data mart. The DBA Manager does not want to add anymore
admin responsibility to the team and is looking for a database option that\\'s low to zero maintenance, but meets their
strict performance requirements as well.

Which Oracle Cloud Infrastructure database service is appropriate for this scenario?

A. Since the application needs to be highly available, it should to be deployed on a Kubernetes Cluster.

B. ADW since operational reporting is a higher priority in this scenario.

C. It is best to build a separate data warehouse, and move the OLTP data on a nightly basis.

D. ATP. Using \\tpurgent\\' and \\'high\\' TNS services to separate connection types.

Correct Answer: D

Autonomous Transaction Processing provides all of theperformance of the market leading Oracle Database in an
environment that is tuned and optimized to meet the demands of a variety of applications, including: mission-critical
transaction processing, mixed transactions and analytics, 10T, and JSON document store.

As a service Autonomous Transaction Processing does not require database administration. With Autonomous
Transaction Processing you do not need to configure or manage any hardware, or install any software. Autonomous

Transaction Processing handles creating the database, backing up the database, patching and upgrading the database,
and growing or shrinking the database.

QUESTION 2

Which two methods canyou use to create database users and grant roles in Autonomous Database services? O the
Oracle Cloud Infrastructure A. service console

A. SQL Developer
B. the DBMS_CLOUD_ADMIN package
C. SQL *Plus

Correct Answer: B

QUESTION 3
Which Autonomous Database Service is NOT used to connect to an Autonomous Transaction Processing instance?
A. TPPERFORMANT

B. MEDIUM
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C. HIGH

D. LOW

E. TPURGENT
Correct Answer: A

https://docs.oracle.com/en/cloud/paas/atp-cloud/atpug/manage-priorities.html#GUID- 80E464A7-8ED445BB-
A7D6-E201DD4107B7

QUESTION 4

Descrives the steps to stop an Autonomous Database instance.

Perform the folloning prereguisite s2eps 33 NECESSINy.
= Open the Oracle Cloud Infrastrutture Coniole by cicking the m naxt 80 Cracle Cloud

* From the Oracle Cloud infrastructure left navigation menu cick Oracle Database and then, depending on your workioad click one
of: Autoromaous Data Warehouse, Autonomous JSON Database, or Autonomous Transaction Processing.

* Onthe Autonomous Databeses pape select an Avtonomious Database from the inks under the Display Name column

1. On the Detalls page, from the More Actions drop-down list, select Stop.
2. Ok Stop %0 confirm

When concurrent operations such 83 scaling or creating » manual backup are active, the confrmation also confirms either psusing
of candeling the concurrent opention. See Conturrent Operations on Autonomous Detabase for more Information.

Note: When an Autonomous Detabase instance is stopped, the following detalls apply:
= Took are no longer able 1o coOnnect 10 & stopped Indtince.
s Autcnomous Database In-fight transactions and queries ae stopped.
= Autonomous Database CPU billing is halted.

4

.

A BusinessAnalyst joined in your organization and wanted to explore the database tools. Which statement provides
access to data tools page for business analyst.

When restoring/cloning the ADB, you must select a backup which is atleast ___hours/minutes old.
A. 24hrs
B.2hrs
C.5min
D. 1 day

Correct Answer: A
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QUESTION 5

An Autonomous Database (ADB) user with an instance wallet has left the company and they shared a database user id
with other users when accessing ADB.

Other than changing the shared user password, what can the admin do to protect the instance?
A. Trust the user who left to not access the database.

B. Shutdown and restart the instance.

C. Rotate the instance wallet and share the new wallet with the remaining users.

D. Delete the user.

Correct Answer: C

Rotate Wallets for Autonomous Database E]E!

Wallet rotation lets you invalidate existing client certification keys for a database instance or for all Autonomous Database
instances in a region.

You may want to rotate wallets for any of the following reasons:

* |f your organization's policies require regular client certification key rotation.

* When a client certification key or a set of keys is suspected to be compromised.
There are two options for client certification key rotation:

* Per-database with Instance Wallet selected:

= For the database whose certification key is rotated, any existing database specific instance wallets will be vold. After you rotate
a wallet you have to download a new wallet to connect tothe database.

= Regional wallets containing all database certification keys continue to work.

* All user sessions are terminated for the database whose wallet is rotated. User session termination begins after wallet rotation
completes, however this process does not happen immediately.

* Regional level with Regional Wallet selected:

* For the region whose certification key is rotated, both regional and database specific instance wallets will be void. After you
rotate a wallet you have to download new regional or instance wallets to connect 1o any database in the region.

* All user sessions are terminated for the databases in the region whose wallet is rotated. User session termination begins after
wallet rotation completes, however this process does not happen immediately.
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